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1. TEE(REI—X)
5} A% BMAR PR g ZRER SRER AFER
SHERF SHRF SHERF SHERF
BIEAEE 72 181 21 2.5 173 19 920 9 85 8
%EARE 20 89 14 45 89 14 20 5 10 2
BEHSEBRRPH HEA 15 37 7 2.5 37 7 20 5 20 5
#EB 3 1 0 0.3 1 0 1 0 1 0
it 110 308 42 28 300 40 131 19 116 15
RIEAEE 90 269 19 3.0 264 19 107 12 94 10
%EARE 32 133 42 133 7 40 2 25 1
HHMZERIERER HEA 15 35 2 2.3 35 2 21 2 21 2
#EB 3 2 0.7 2 0 0 0 0 0
it 140 439 28 3.1 434 28 168 16 140 13
RIEAEE 80 230 37 2.9 221 36 99 13 87 10
%EABE 30 224 47 75 224 47 48 15 29 8
IGFRBIEFERFR [ #HEA 18 34 8 1.9 34 8 20 5 20 5
#EB 2 2 1.0 2 0 0 0 0 0
it 130 490 92 38 481 91 167 33 136 23
BIEAETE 123 298 15 2.4 291 15 141 11 137 11
%EARE 38 149 39 149 9 40 3 23 3
HHREFIZRER HEA 16 43 2.7 43 6 19 3 19 3
#EB 3 4 1.3 4 0 2 0 2 0
it 180 494 30 27 487 30 202 17 181 17
BIEAEE 365 978 92 2.7 949 89 437 45 403 39
%EARE 120 595 77 5.0 595 77 148 25 87 14
&Et HEA 64 149 23 2.3 149 23 80 15 80 15
#EB 11 9 0 0.8 9 0 3 0 3 0
it 560 1731 192 3.1 1702 189 668 85 573 68
2. IFH(RHEEI—R)
sag Aig BEAE EREEH e ZEREM EREHR AZEH
SHERF SHERF SHERF SHRF
BIEAEE 10 93 3 9.3 89 3 20 1 17 0
oo g s | R ER 6 101 7 16.8 101 7 0 3 0
RRAZAERFH #E 4 6 0 15 6 0 0 0
it 20 200 10 10.0 196 10 31 1 25 0
BIEAEE 10 109 0 10.9 103 0 27 0 25 0
PO —— 3 C]=E 6 118 9 19.7 118 9 6 2 1 0
WHEF TFRFH #E 4 2 1 0.5 2 1 1 1 1 1
it 20 229 10 1.5 223 10 34 3 27 1
BIEAEE 20 202 3 10.1 192 3 47 1 42 0
ast %EARE 12 219 16 18.3 219 16 12 2 4 0
#E 8 8 1 1.0 8 1 6 1 6 1
it 40 429 20 10.7 419 20 65 4 52 1
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